FRL28(2016) 8 KEHET #87KEKDKE OKERAKEHEES)

[EEE7 Py [EEE7 Py [EEEIr e

11 - 504 BER 11 - 504 BEE 11 - 504 HB{EER

BER BER BER

[%KZE] 01 - 00 [%KiZE] 02 - 00 [%KiZE] 03 - 00

KAREKE EFN%KE 1TH$KE

BEIER KiE&] KiE&] KiE&]

FIKZRGEND FIHRIIKZR GIFE D FIARIIKZR (FIFR))

[k DFELE] [k DFELE] [k DFELE]

CIN; ik CIN; i CIN; ik

(1 BE¥%KE] 862,944 (m) |[1HF9%KE] 175,063 (m) |[1 B F %K E] 326,100 (m)

#RIKERIK #RIKERK #RIKERIK

= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

POFEVRUEZDILEY <0.0003  <0.0003  <0.0003 4 <0.0003  <0.0003  <0.0003 4 <0.0003  <0.0003 <0.0003 4
IV RUEDILEY <0.0001  <0.0001  <0.0001 4 <0.0001  <0.0001 <0.0001 4 <0.0001  <0.0001 <0.0001 4
29TV RUEDILE <0.001 <0.001 <0.001 4 0.002 <0.001 <0.001 4 0.001 <0.001 <0.001 4
1,2—YHONIAY <0.0004  <0.0004  <0.0004 4 <0.0004  <0.0004  <0.0004 4 <0.0004  <0.0004 <0.0004 4
LIV <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 0.001 <0.001 <0.001 4
TRIVEES 2—TIFIAFIIL)
HIERE <0.06 <0.06 <0.06 4 <0.06 <0.06 <0.06 4 <0.06 <0.06 <0.06 4
ZEibiE R
Jhoo7e b= bk 0.002  <0.001 <0.001 4 0.002 <0.001 0.001 4 0.003 0.001 0.002 4
#kHo5-Ib 0.003 0.002 0.002 4 0.003 0.001 0.002 4 0.007 0.002 0.004 4
BREIEHR 0.9 0.5 0.6 12 0.8 0.5 0.7 12 0.7 0.4 0.6 12
it 735 10.0 4.4 7.2 4 6.8 42 5.1 4 47 38 43 4
1,1,1—M)HonIaY <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
AFIV—t—FFII—TFIL(MTBE) <0002  <0.002 <0.002 4 <0.002 <0.002 <0.002 4 <0.002 <0.002 <0.002 4
BRMEGRIVI VBN LEER)
R5GAE (TON) 2 1 2 4 2 2 2 4 2 1 2 4
EREGYTUTIEER) -1.3 -1.8 -16 4 -1.6 -1.9 -1.8 4 -15 -2.1 -1.8 4
HEXEMRR 0 0 0 4 1 0 0 4 0 0 0 4
1,1—ybonIFlby <00010  <0.0010  <0.0010 4 <0.0010  <0.0010  <0.0010 4 <0.0010  <0.0010 <0.0010 4
Kig(°Cc) 27.0 8.2 18.0 12 28.4 7.2 17.5 12 26.9 7.6 17.7 12
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
SEHMRUV)IR S FE(50mm )L A FREF)
FAEME(SS)
(o3 gkd i 3040
L2ER
EDV
VIBRAAY
FINOARY £ B RE
£ (n/ml)
PIHIE 483 30.6 395 12 31.2 17.8 26.6 12 34.4 16.9 26.9 12
BEBR
il S 378 265 32.2 4 437 325 39.2 4 40.7 238 336 4
BT




FRL28(2016) 8 KEHET #87KEKDKE OKERAKEHEES)

[EEE7 Py [EEE7 Py [EEEIr e
11 - 504 BER 11 - 504 HER -
BER BEE
[%KiZE] 04 - 00 [%KiZE] 05 - 00 [KiZ4E]
F=iRKE T REKE
BEIER KiE&] KiE&] KiE&]
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[k DFELE] [k DFELE] [k DFELE]
CIN; ik CIN; i
(1 BE¥%KE] 251,096 (m) |[1 B F 5% KE] 114,552 (m) |[1 B F %K E] ()
#RIKERIK #RIKERK #RIKERIK
= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

POFEVRUEZDILEY <0.0003  <0.0003  <0.0003 4 <0.0003  <0.0003  <0.0003 4

IV RUEDILEY <0.0001  <0.0001  <0.0001 4 <0.0001  <0.0001 <0.0001 4

29TV RUEDILE 0.001 <0.001 <0.001 4 0.001 <0.001 <0.001 4

1,2—YHONIAY <0.0004  <0.0004  <0.0004 4 <0.0004  <0.0004  <0.0004 4

LIV <0.001 <0.001 <0.001 4 0.002 <0.001 <0.001 4

TRIVEES 2—TIFIAFIIL)

HIERE <0.06 <0.06 <0.06 4 <0.06 <0.06 <0.06 4

ZEibiE R

Jhoo7e b= bk <0.001 <0.001 <0.001 4 0.002 <0.001 0.001 4

#kHo5-Ib <0.001 <0.001 <0.001 4 0.005 0.002 0.003 4

RRIER 0.8 05 0.6 12 0.7 0.5 0.6 12

picd 3o 7.6 35 5.6 4 6.0 3.1 4.4 4

1,1,1—M)HonIaY <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4

AFIV—t—FFII—TFIL(MTBE) <0002  <0.002 <0.002 4 <0.002 <0.002 <0.002 4

BRMEGRIVI VBN LEER)

R5GAE (TON) 2 1 1 4 2 1 2 4

EREGYTUTIEER) -1.3 -16 -15 4 -1.1 -15 -14 4

HEXEMRR 0 0 0 4 0 0 0 4

1,1—=YHOAIFLy <00010  <0.0010  <0.0010 4 <0.0010  <0.0010  <0.0010 4

JKiE (°C) 28.6 71 17.5 12 27.2 8.4 17.2 12

PUEITREER

EYLFRIEERERE(BOD)

LB R ERE(COD)

SEHMRUV)IR S FE(50mm )L A FREF)

FAEME(SS)

(o3 gkd i 3040

L2ER

EDV

VIBRAAY

FINOARY £ B RE

£ (n/ml)

PIVHURE 334 250 31.1 12 43.1 230 349 12

BEBR

il S 47.3 29.0 38.6 4 457 29.5 39.7 4

BT




